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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

Some vegetarians are not just indifferent to meat; they have a/an --- toward it.

1) immorality 2) tendency 3) antipathy 4) commitment

A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --—-----—-- in some people about the benefits of technology.

1) ambivalence 2) distinction 3) encouragement  4) compromise

My niece has a -------—--—- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.

1) vacuous 2) vivid 3) cyclical 4) careless

The singer's mellifluous voice kept the audience --—--—-—-- for two hours.

1) disputed 2) disregarded 3) frustrated 4) enchanted

His family, relatives, and friends still cling to the hope that Jeff will someday
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

Logan has been working long hours, but that is no excuse for him to be ------- to
customers.

1) ingenious 2) intimate 3) discourteous 4) redundant

Although he was found ------------, he continued to assert that he was innocent and had
been falsely indicted.

1) critical 2) guilty 3) problematic 4) gloomy

The old sailor's skin had become wrinkled and -- - from years of being out in the
sun and the wind.

1) desiccated 2) emerged 3) intensified 4) exposed

The promoters conducted a survey to study the -----—---— of the project before investing
their money in it.

1) impression 2) visibility 3) feasibility 4) preparation
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10- That is 100 —=—veeeeen an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ====aeaaee-
spatial reasoning. and the results were published in Narure. They gave research
participants one of three standard tests of abstract spatial reasoning (12) -—--eeee- ---
cach of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart. verbal relaxation instructions, and (13) ==——memmmeemm . They found a temporary
enhancement of spatial-reasoning, (14) --------—--- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) -- -- the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on
12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience
13- 1)silence 2) was silent 3) there was silent  4) of silence
14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Biotechnology has so far been considered as an interplay between two components,
one of which is the selection of the best biocatalyst for a particular process. while the
other is the construction and operation of the best environment for the catalyst to
achieve optimum operation.

The most effective, stable and convenient form for the biocatalyst is a whole
organism: in most cases it is some type of microbe, e.g. a bacterium, yeast or mould,
although mammalian cell cultures and (to a lesser extent) plant cell cultures are finding
ever-increasing uses in biotechnology.

Most microorganisms used in current biotechnological processes were originally
isolated from the natural environment. and have subsequently been modified by the
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16-

17-

18-

19-

20-

industrial geneticist into superior organisms for specific productivity. The success of
strain selection and improvement programmes practised by all biologically based
industries (e.g. brewing. antibiotics, etc.) is a direct result of the close cooperation
between the technologist and the geneticist. In the future, this relationship will be even
more necessary in formulating the specific physiological and biochemical characteristics
that are sought in new organisms in order to give the fullest range of biological activities
to biotechnology.

In most industrial genetics the basis for changing the organism's genome has been
by mutation using X-rays and mutagenic chemicals. However, such methods normally
lead only to the loss of undesired characters or increased production due to loss of
control functions. It has rarely led to the appearance of a new function or property.
Thus, an organism with a desired feature will be selected from the natural
environment, propagated and subjected to a mutational programme, then screened to
select the best progeny.

This passage is mainly about ——-—-eeeeee,

1) biocatalysts and catalysts 2) biotechnological processes
3) industrial genetics 4) screening and selecting techniques
The best operation, based on the first paragraph, is obtained by ~---ceceeeeees,

1) achieving the interaction between particular operations

2) constructing and operating the best environment for catalysts

3) selecting the best biocatalysts and constructing the best environment for them

4) considering the biotechnology as an interplay accelerating the processes

You can infer from the passage that in biotechnological processes, the aim is to —=-eemeeee,

1) detect a new function or property in a whole organism

2) improve productivity of new organisms manipulated industrially

3) propagate the existed organisms in the natural environments

4) optimize the particular characteristics sought in an organism

The alternation in the genome of a cell of a living organism is carried out by ----eeeux,

1) applying X-rays and mutagenic chemicals

2) mutation selecting the best progeny

3) methods leading to the loss of some characters

4) modifying the biological activities via biotechnology

All of the following, according to the passage, are true EXCEPT ----eeeemeeeeee »

1) bacterium. yeast or mould are some type of microbe

2) brewing and antibiotics are samples of biologically-based industries

3) both technologists and the geneticists have the essential role in the success of strain
selection

4) mammalian cell cultures and plant cell cultures have been used in biotechnological
processes for a long time

PASSAGE 2:

Industrial or white biotechnology is making an increasingly important contribution to
the development of a sustainable. bio-based economy. Industrial Biotechnology is the
application of biotechnology and production of chemicals, materials and energy. It
uses enzymes and micro-organisms to make products in various sectors. White
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22-

23-

24-

25-

Biotechnology could provide new chances to the chemical industry by allowing easy
access to building blocks and materials that were only accessible before via intricate
routes or not at all. White Biotechnology could have a considerable impact by using
biomass as an alternative to fossil resources for the production of biochemicals such as
biofuels and biopolymers.

Although healthcare (“red” biotech) and agriculture (“green™ biotech) have
dominated so far, "white" biotechnology is likely to become as important.
Conventional processes in chemical and textile industries will be transformed. and
biofuels will make an important contribution to our overall energy needs. Use of
biotechnology to replace existing processes could make many industries more efficient
and environmentally friendly and contribute towards industrial sustainability. Waste
will be reduced. energy consumption and greenhouse gas emissions will be lowered
and greater use will be made of renewable raw materials.

Instead of relying on high temperature and energy-intensive processes. white
biotechnology achieves the same results using biological catalysts-enzymes-operating
mostly at low temperatures. Feedstocks can be derived from fossil resources or be
typically agricultural materials such as starch converted first to simple sugars and then
transformed into a wide range of end products via fermentation. To achieve this a
sophisticated range of scientific disciplines is brought together under the umbrella of
white biotechnology.

White biotechnology, although already successfully established in some sectors, is
still in its infancy. Significant challenges still lie ahead if its power is to be fully
harnessed to the needs of industrial sustainability.

The best title for this passage is -------eeeemueua-,

1) An Introduction to Industrial Biotechnology

2) Challenges Facing Industrial Biotechnology

3) Industrial Biotechnology: The Most Vital Tech

4) The Impacts of Industrial Biotechnology

It’s referred in the passage that ——--—e-eeeeeee,

1) industrial biotechnology is a completely new area

2) red and green biotechs are more important than white biotech

3) white biotech can be considered as a vital part of a sustainable economy

4) white biotech can provide building blocks or materials via easy artificial routes

Today, according to the passages, -—--------=-cueuus,

1) scientists try to omit the biological catalysts operating at high temperature

2) the economic facts of life indicate that more attention should be given to biomass

3) conventional processes in chemical and textile industries are restricted to a large
extent

4) various biochemicals are increasingly used for producing biomass

All of the following are advantages of using biotechnology in industry EXCEPT ---eeeeeee,

1) cleaner manufacturing and environmental challenges

2) contributing towards having more competent industries

3) limiting applications of the fermentation process

4) saving energy in the production processes

The word “harnessed” in the last line means %

1) generated 2) maintained 3) restored 4) utilized
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PASSAGE 3:

Proper waste management of biodegradable plastics is constituted by aerobic or
anaerobic decomposition. In the process of aerobic degradation, the organic substance
- with the help of aerobic microorganisms - is converted into CO,, water and cell
biomass (compost); in the process of anaerobic degradation . the organic substance -
with the help of anaerobic microorganisms - is converted into CH4 and CO; (biogas),
traces of H, and H>S. and cell biomass.

The rate of biodegradation is therefore very important for plastics that are suitable
for composting (compostable plastics). It should be noted that only some
biodegradable plastics are suitable for composting on a domestic compost heap.
Mostly biodegradable plastics decompose during the process of industrial composting.
Compostable plastics do not introduce toxic substances into compost.

Industrial composting is a process during which a conversion of biodegradable
waste into stable, hygienised products that are further used in agriculture, takes place.
Industrial composting is performed at higher temperatures than those in domestic
composting: the temperature of the compost heap needs to be higher than 60° for at
least one week, in order to remove pathogens. Compostable plastics will, during
industrial composting, fragment and mineralise: and consequently the use of compost
in agriculture will not lead to the leakage of plastic particles into the environment. It is
important that the time required for the degradation of bioplastics is consistent with the
composting cycle.

Biodegradable plastics will therefore be in the process of industrial composting,
mineralized in maximum 180 days, while conventional plastics as waste burdens the
environment and does not fall apart for centuries.

Decomposition of biodegradable plastics is done —————-,

1) merely in the presence of air

2) simply in the absence of air

3) with removing pathogens

4) with the help of environment and microorganisms

You can infer from the passage that the main advantage of biodegradable plastics is

1) not be put in landfills 2) their lesser durability

3) their lower price 4) their usability

According to the passage, which sentence is NOT true?

1) All biodegradable plastics are compostable and also all compostable plastic are
biodegradable.

2) The ratio between time required for degradation of plastics and the composting
cycle should be constant.

3) Conventional plastics introduce toxic substances into environment.

4) Compostable plastics are a subgroup of biodegradable plastics.

The duration of converting the biodegradable plastics into compost is done ~——--emeene- .
1) up to 6 months 2) less than 180 days
3) during centuries 4) between 6 months to | year

The best substitution for the word “leakage” in line 18 is —--——-— .
1) blockage 2) deficiency 3) permeation 4) shortage
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